F£4TN o. RM98A-8

OREC

20204E8 H19H



AN

No.RM98A-8

1/53

7 L—LER

14 0262-78400 AN—bv=9 1

13 0262-71300 RM98A%Z #kx 1 A—Lvyo, Hi
0262-71400 ARM98ASE 1 1 FoUvT

12 0244-82400 ZEIN) 1

11 0244-81800 RETv=) 2

10 0244-81600 MEv-) 1
0244-80200 HAR<—- (H1) 1 EA2%#%4H

9 0244-80300 A= (F75)vI) 1 A2+ 4R
0244-80100 HYARI—49 (F—Lv%) 2
0244-60210 EHANhIMGER) 1 Hir

8 0244-63610 EHAILE) 1 y&ZPri
0244-63810 EHAF a7 1 A—Lvs
0244-60110 HH M HVGER) 1 Eiva

7 0244-63510 BN IWE) 1 & Pri
0244-63710 BN hLER) 1 F—Lvs

6 0244-22400 HAFH9)LAT—CMP 2

5 0244-20700 %#7"7L—LCMP 1

4 89-2191-080502 FLEEE S 8x50 THY¥ 2

3 89-2131-080002 RE> 8 2

2 89-1233-080162 INBYFR AR L MSW.PW)M8BX 16 2

1 89-1159-080168 RS RIPRD M8 X 16 (R AyF) 8

&5 B & ' B B & & [ g =z




AN

No.RM98A-8

2/38|5 L—LE8 2/14

13 0244-81400 NRERE—IL 1
0244-80900 SEYNET #HR (331) 1
12 0244-81100 SEVRET#HR(TIUYD) 1
0244-80800 SEVYRET#HIR(F—L YY) 1
11 0244-71300 YA IT7ARFT—T9-170 1
0244-63100 70 MV (L) 1
10 0244-63200 200NV TH Y7 1
0244-60600 70vM7K(8) 1 A—Lvs
9 0244-32200 JL—FXXy/\CMP 1
8 0244-22500 20 RN /8 — 1
7 89-2521-000083 EELEHE 8(2=40) 3
6 89-1714-100002 FRES 10X21X2 1
5 89-1611-080042 INEIFRA TV M8 3
4 89-1561-100002 INYTUF YR M10 1
3 89-1213-080552 INBY AR L IS(BT)MBX55 1
2 89-1211-080252 INBUFS AR LS M8X25 2
1 80-1484-356-00 73 AN —-RLN % 1
'S B & ' B B & & [ g =z




AN

No.RM98A-8

3/98|5 L—Ltp 3/14

\
v /o
3\\&
o
e
& / [
/ =

/Z
Sy
LY
T
W

HE
o
©
~—
>
S
o
n ©
s MI\.%G\W/M
S I ER = I T S
o NSO s o M P LS
|| ‘v_/}owrum/.m»mwnm
=~1% _To~ A o o
HSRERAERRR
<[] |« ‘J“7_mmw_h__n/.ﬁ
K /T_ I—:A.7
S A = I
oA T_ [m) ﬁol
N K=
By
=
ololalo|oile
o|o|o|o|o
ololo|olo|N|—|—|T|1
olo|o|o|o|v|o|o|w|o
9852910876%
=1t=1r=1 I =1=1=1 ) O
~IN|N—=<ITT T 1]
L] |ol—|on|lv|ls
SIS T| === || —]|O| -l
< ||| |N|w v N << |0
A|N|N|N|N|MD|N|—]|—]|—
=1=1l=1l= =10 BN BN
o|o|o|m|m
88888mbn
m987654321=_ﬁ




AN

No.RM98A-8

4/53| 5 L— L8 4/14

R My
K
L
= HE
B
11422@
[z
g
.IP N
lblmooo._lN
222N
ERERA
XK Y
NN A
__Js/1 ©
~ | >KEHI2 =
= m_._kl
lﬂlo_—M._&\ \J.w_B_H
EH S
YA o)
-ﬂ
oo
SIS
[—=X
fo| N~ [D]|S|©
TS| TS
L<s[2]5sl8
AP b el eed
ol|o] | 1|1
DO
ocojocojoo|c2
o
W




AN

No.RM98A-8

RO:
% He
kA
HE|
& HE
—|— NN 43211222%»
B
m
o
XM
© x|~ L
L mWOS\M/A.NN._._u_._._u_wEC.U/
o) = ] = S B e RS PRSI I
N B P P e e S P B R
25 pmmfvﬂwmwr»Hmw
O[22\ [RIEHDILE R AR | T gz
DA e e R R N R
NN ﬁRU%ﬁﬁ0$ﬁﬁmD>u
AR ﬁmﬂﬁﬁﬁﬁvypth%
T = A ST T L M BN I
1/ _u_llll ._AH. \h.b/\ \\J~/
\m_._ M.IA_._IM_._”_/ DD~
=
iy

5/83|5 L—L88 5/14

7 R—2
\W ﬂ..\
et /”
\ N
?bk/ \
)

N \ . \‘ o
T 20 7=
o\ .&wmmMW|L&1ﬂ'v AD) )
/ ds““”Wmhmwwyir WA

13900

~bO—JLER
0244-
0244-13800
0244-13500
0207-11100
89-2131-100002
89-1712-100000
89-1631-100042
89-1611-100042
89-1611-080042
89-1233-080202
89-1213-100302
83-1488-195-02
83-1484-195-00
80-1791-597-00
80-1487-964-10
80-1487-962-10
80-1485-265-00

-

18
17
16
15
14
13
12
11
10
9
8
7
6
5
4
3
2

1




AN

No.RM98A-8

6/53

JL—LE 6/14

13 IUOUER P48~SHa

19 0244-75900 RER—R(K) 1 WYV VER
0244-75300 [ (=) 1 795210y vEH

11 0244-75200 pRELR—R(EID) 1

10 0244-74500 BREay) 1

9 0244-40300 NLYIYN CMP(K) 1 WYy VvER

8 0244-40200 FMLYIVM CMP (B&S) 1 [ 1y vER

7 0244-20400 BEvII S vk 1

6 0207-74900 #R/ Sy 12.5x19x1.0 1

5 0207-74400 t+—JF4—AAYF K17850 1

4 0207-72800 AAyFOvIF vk 1

3 89-1251-120152 EEAHINERIRAARILE M12X15 1

2 89-1233-080202 INBU R AR )L M(SW.PWIM8BX20 5

1 80-1483-988-00 f—29Yy7217 3

'S B & B B B & 4 EE & =




No.RM98A-8

AN

1/53

JL—LE 1/14

9 0244-78500 EERAA Y EASSY (F REE) 1
8 0244-78400 ZIHAA1 VY HEASSY (F R EE) 1
7 0244-76200 RAILEXYT (R 2
6 89-2120-350352 > 3.5X35 2
5 89-1750-160002 INREE ¢16 2
4 89-1750-100002 NREE ¢$10 8
3 89-1658-160042 NGRSy (BEI25E)M16 2
2 89-1113-100252 7NFRJLNBT)M10X25 8
1 83-1630—-335-00 FEES 16X40X4.5 2
5 | B & HF & B & % EE B =




AN

No.RM98A-8

8/53|5 L—Ltp 8/14

16 0244-83200 INEE <A R ILMSW,PWIM10x25(7T A4 4) 4
15 SyialEs P15~Z g
14 0244-01300 Sy IVRAT— 1
13 0207-75400 JL—F/\130 1
12 0207-10300 JL—x T3/ k 1
11 0207-07400 77>/ \—E{fCMP 1
10 0207-07200 77N —CMP 1
9 89-2120-200152 Z|E > 2X15 1
8 89-1750-080002 INREE DS 1
7 89-1711-080002 T RES8X18X1.6 3
6 89-1631-080042 BN RA TV EMS 3
5 89-1611-080042 INEYFRAF VM8 1
4 89-1561-080002 NAUFYEMS 2
3 89-1233-080202 INBU AR LS (SW.PWIM8BX20 3
2 89-1211-080352 IMEEFRARILEMBX35 1
1 83-1516-908-00 FEY—D17 1
&= B & ' B B & 4 EE & =




AN

No.RM98A-8

9/93| 5 L—Lg 9/14

Ea—X
752 | h79

®-%8 | F-FKE
10A 20A

Fr-d | E-EF
5A 10A

80-1483-988-00

H—R9v217

80-1482-971-00

NYT)=h9v3ay

23 0262-72100 98A 74 Nn—2A(K) 1 AoHEIOY
0262-72200 98A 74¥n—%A(B&S) 1 JVIRIVOY

22 0244-77900 E1—XBOXT#4 (1) T23DHHERFT
21 0244-77800 J—HOiHR—2R 1

20 0244-76900 J4)L5 1

19 0244-76800 J—OH4Ak 1

18 0244-76700 My —o 1

17 0244-76600 BHxvyT 1

16 0244-76300 4¥=9)y7 2

15 0244-75100 7340 )A b 2

14 0244-73400 BTy 2

13 0244-72900 Ay U7 2

12 0244-71500 D7 AF—RT") 47 ST-9 1

11 0244-70800 NyT)=r=7ll 1

10 0244-70500 NyT')—(40B19R) 1

9 0244-70100 Y 8UHASSY 1 X 9,006,088
8 0244-60900 NyT)Y—h 1

7 0244-60810 NyT)-BEAT— 1

6 0244-60720 NyTl)-KyHACMP 1

5 89-1551-060002 U7y kM6 1

4 89-1159-080168 rSRINRIOME X 16 (B Ay F) 3

3 89-1137-060152 7NARILEPWIMEX15 4

2 1

1 1

0

B

g

B & ' 5

B & A

=]
v

&=




No.RM98A-8

AR

7 L—LER

10 02 &R P29~ H8
9 INUR)LER P26~5 1R
8 0244-76100 RAILF Yy T (F) 2
7 0207-30700 +>R3—E>CMP 1
6 89-1750-120002 INTREE P12 1
5 83-1481-328-00 FREESE 12X30X3.2 1
4 89-1551-120002 INEYUS Y RM12 1
3 89-1233-080202 INBYFR AR L IM(SW.PW)M8BX20 4
2 89-1233-080162 INBYFR AR JLM(SW.PW)M8BX 16 4
1 83-1415-975-00 JV)ZA=yT)LM6 1
&= B & ' B B & 4 EE & =




No.RM98A-8

AN

11/53

7 L—LER

11/14

11 0244-14100 TL—FRAIJLF7—LCMP 1
10 0244-13600 JL—¥%0OvyKCMP 1
9 89-3510-016250 DUJw< a1 16.25 2
8 89-2511-000160 gL 16 1
7 89-2131-120002 REY 12 1
6 89-1711-120002 TRESE 12X21X2.5 1
5 89-1611-100042 INEIFRAF YR MI0 1
4 89-1213-100352 INBYZR AR JLIMEBT) M10X35 1
3 83-1515-975-00 FYZX=v7)L CE M6 1
2 80-1781-943-00 ATILT L 1
1 80-1493-354-00 AyRRL/AR 1
&5 B & B B B & 4 EE & =




No.RM98A-8

AN

12/53

7 L—LER

21 X ERER
20 0255-70200 FNETY M16 2
19 0255-50800 70UM)Y97—-LL CMP 1
18 0255-50600 UHT—LTY % A3 2
17 0255-50400 7YU97—LL CMP 1
16 0255-50300 70UM)v97—-LB CMP 2
15 0255-50200 70UM)U97—-LR CMP 1
14 0255-50100 7Yo97—LR CMP 1
13 0244-52200 —y7 VEYUIER Vb 8
12 0244-10400 L TFEGE7-L 2
11 0207-76800 FES 16X32X2.3 2
10 0207-76200 EFn2 2
9 89-2131-160002 RE> 16 2
8 89-1750-120002 INREE P12 8
7 89-1711-120002 EESE 12X21X2.3 8
6 89-1551-120002 UFyk M12 8
5 89-1511-160042 FNATYF M16 04—} 2
4 89-1232-080162 INES X AR ILSM(SW)M8BX16 2
3 83-1751-311-00 EESE 8X25X2.3 2
2 83-1515-975-00 SYZX=v7)L CE M6 1
1 83-1415-975-00 JV)ZA=wT)LM6 7
&5 B & ' B B & & [EES & =




AN

No.RM98A-8

13/53

7 L—LER

I

026000

it
)

A
{

0

13/14

0255-70100 2')—0Ovw%4FLC75-35
0244-22600 SL—*0vFRR
0244-11600 =Yy (N4 TR)
0244-11500 AEOVE ()
0244-11400 AEOVE (H)
0244-11300 Jwia0yKZ([+CMP
0244-10500 Ay97"ye—
0208-72700 7NARJLMSWER).PWIMBX12

89-3510-012200

DUDwi 2 12.20

89-3510-010150

DUDw< 2 10.15

89-2181-080602

EEBEY  8x60

89-2181-080282

FEEEY 8x28

89-2181-060202

FEEEY 6X20

89-2132-060002

REARITIESDH) 6

89-2131-080002

REY 8

89-1711-080002

EEES 8X18X1.6

89-1711-060002

EES 6X13X1.0

89-1543-080002

INBIFRAFYRSW) M8

—_=m === = === =N N
—LNOO-PU'I@\ICDQO—LNOO#CHO\Im@o_‘

=N =|=|lwINdINdVIW == === === =] === —

89-1511-060042 NEFvE M6
83-1020-355-00 AT ARy x—12X24%X1.0
80-1484-354-10 7' L—%ayb -3
&S | B & B B B & 4 EE i\ &




AR

No.RM98A-8

147535 L—1.88 14/14

20 0262-20200 7L —L.CMP 1
19 0262-10100 L FERAE ECMP 1
18 0244-75100 734 A b 8
17 0244-72310 MEISYFITA v — 1
16 0244-72210 F42IL—F T/ — 1
15 0244-71500 D7 AF—RT) 4 ST-9 4
14 0244-70200 NisrDPri 1
13 0244-14300 +4255yFL /A —CMP 1
12 0244-13700 74X —_34 > FCMP 1
11 0244-11200 RS 1
10 0207-74400 +—JF4—AAYF K17850 1
9 0207-72800 AAyFAYIF vk 1
8 89-2521-000120 ERLEDHER 12 1
7 89-2511-000130 BhFELIEHER 13 1
6 89-2132-060002 RE>ERITIES ) 6 3
5 89-1711-060002 EREESE 6X13X1.0 3
4 89-1611-080042 INEIRAF Y M8 1
3 89-1233-080202 INBY S AR JL S (SW.PW)M8BX20 4
2 89-1211-100252 INBIZRER LS M10X25 1
1 80-1484-262-00 7—LH)vT (GF) 1
Rl B & B 5 B & 4 =R & =




No.RM98A-8 %%ﬁ’\

Sy g

1/9

89-1251-081123

BEF N7 R )L M8X112

13 89-2150-070500 F*— (M) 7 x50 2
12 0244-09110 MC/ASSY(HSTE) 1
11 0244-09200 HST1—=wFASSY 1
10 0207-77800 RANE RY A=) 2
9 0207-31200 FBERE R 2
8 0207-07500 7 1
7 0207-07300 mrIARJLE 105 2
6 0207-03100 SyiahH—K 1
5 89-5222-045000 0y 4 G45 2
4 89-2150-050200 F—(Fh) 5X20 1
3 89-1750-080002 INTREE 68 2
2 2
1 4

89-1239-080162

INEL R AR )L S (SW.PW)M8BX30

0

B

\

B & & 5

B M %

& #




AN

No.RM98A-8

16/53

Sy ayEs 2/9

1,245,79

{01119 0207-73000 JL—FASSY (1)
12 0244-88100 JL—F%Ta1—(PA-T)EvYE 14yb X2 —#A
11 - JL—x7—L 1
2457 .
101112 0207-73200 7' L—%74Assy 1
9 0308-00300 JL—X%H/3—PK(PA-7) 1
8 89-2511-000150 BFELIEHER 15 1
7 89-1750-100002 NREE $10 1
6 89-1750-060002 INREE $6 4
5 89-1714-100002 TERES 10x21x2 1
4 89-1611-100042 INEIFRAFYERMI0 1
3 89-1113-060122 FNARILEEBT) M6X12 4
2 80-1030-285-00 Sa1—RL/AFR 1
1 80-1030-282-00 JL—FK5 L (PA-7) 1
'S B & ' 5 B & 4 [ & =z




AN

No.RM98A-8

17/53

Swyia g 3/9

9 0244-01100 HE4r — X AZCMP 1
8 89-5121-304707 A4 )L —)L UE 30.47.07 1
7 89-5121-284708 A4 )L —)L UE 28.47.08 1
6 89-3115-060054 A7) 6005 2RS 2
5 89-2512-000470 NEHIEOHER 47 1
4 89-1252-100122 FE{F/MZ R FAAR)ILE MIOX12GRE ) 1
3 89-1232-080202 INEEFR AR IL(SW) M8X20 6
2 83-1415-663-00 DP 25.30.46.09.15 1
1 83-1020-349-00 g/ \vF¥> 10 1
'S B & B B B & 4 [EE & =z




AN

No.RM98A-8

& 4/9

w3

—
—y
—_—

18/53

He
HE
‘.I‘.|‘.|‘.|4|4|4|4|4|4|m—nﬂ
Bl
~
S
o >
oI5| |2|o a
NP R RN
M. AU1¢WM2_7%
) 1 el 1L e
NUNARTREER
/Uﬁﬂbfvwﬁlﬁ
s_._.—“_J‘L/_nj\ll._W_l._l—./l\I 4
Eb_sﬁwﬁT
:/7”.)/%4 21~ \JB
D H | | |3 HS S E] e
2\ :/ll m_._ﬁ“_m_l~/
L/I \._\ L
llu_ﬂ_ =|™ 2
5 il
*
~[{~laa|afo _“__H.
ololo|8IRISI8IR|T|o
= lti=t=1lI N =t=1=1Rd =]
21552686101_@
O|lO|N|—|—|O|O|O|M|—
Sit=1t=1NN RN DN N B (=)
1111 |O—]|O|MMm|N| |
S R
2225511112“—
=lt=1t=14 I DRI IR =)
ol|lo|o|o|o|m
o0|co|oo|co|c0|cd =1
Ho
m987654321=_h
W




AN

No.RM98A-8

19/53

Sy a gl 5/9

16 0207-01900 ORI Z 1
15 0207-01700 AAUH 7—LCMP 1
14 0207-00400 20T RIA(FILIABZEXY 1
13 0207-00300 ABf 1
12 0207-00100 Sylahr—AL 1
11 89-5121-204208 A4 )L —)L UE 20.42.08 1
10 89-3410-080000 fREBkS8 1
9 89-3115-060044 N7 6004 2RS 2
8 89-2512-000420 I ALIEDE 42 1
7 89-2511-000170 A IEOER 17 1
6 89-2151-050200 F—(Fh)5X20 1
5 89-2150-050160 F—(#h)5X18 1
4 83-1482-143-00 FNAZYTEA b M8X25 12
3 83-1415-671-00 AIS5E 22 1
2 83-1020-148-00 NARYT AL~ M6X14 2
1 80-1310-138-00 JIFRT)G 1
B B & ' B B & & [ g =z




AN

No.RM98A-8

20/53

Swyia gl 6/9

8 0244-00100 < 7hF+22-30 1
7 0207-01600 IR TA—DECMP 1
6 0207-00800 CEihS— 9L 1
5 0207-00700 CEf 1
4 0207-00600 BEf 1
3 0207-00500 20T RINASILIAEEXY(H) 1
2 89-3111-060044 7125 6004 4
1 83-1415-671-00 AIS5E 22 1
&5 B & BF B B W 4 EE wE &




AN

No.RM98A-8

21/53

Swyia g 7/9

9 0244-00400 D 1

8 0244-00200 JL—X& 32TV 1

7 0207-01500 JL—F8hh5— 8L 1

6 0207-01400 D#ff 371XV 1

5 0207-01210 7' L—%80 40T X7 1

4 0207-01100 JL—X & 1

3 89-3111-062034 7Y 6203 2

2 89-3111-062024 7YY 6202 2

1 83-1020-361-001 2S5 ARy v— 15X24X1.0 1
'S B & ' 5 B & 4 EE & =z




AN

No.RM98A-8

22/53

Sy a gl 8/9

15 [0244-01200 HE4r—XEHCMP 1
14 [0207-01800 T 2099 7+—5 % 1
13 [89-5121-304707 A4 )L —)L UE 30.47.07 1
12 [89-5121-284708 A4 )L —)L UE 28.47.08 1
11 [89-5121-122207 A4 )L —)L UE 12.22.07 1
10 [89-3115-060054 A7) 4 6005 2RS 2
9 [89-2512-000470 TR LEDHE 47 1
8 [89-2111-050022 ATV TEY 5X22 1
7 [89-2111-030020 ATYUFTEY 3X20 1
6 [89-1543-080002 INEYFRAFYRESW) M8 1
5 [89-1232-080202 INEEFR AR IL(SW) M8X20 6
4 [83-1415-663-00 DP 25.30.46.09.15 1
3 [80-1830-113-00 YARISYF 74— 1
2 [80-1488-153-00 T20v59F7—1 1
1 80-1425-551-00 FTTIIaVEIENR 1
B B & ' 5 B & 4 [ i =z




AN

No.RM98A-8

23/53

Swyia g 9/9

0244-00300 EEH39T YV CMP
0207-02220 B £ CMP
0207-02120 Hi £ CMP
0207-00200 Syiarvh—X R

89-3510-028300

DUDJwi a1 28.30

89-3410-075000

fH¥k7. 5

89-2511-000400

B FELE HER 40

89-2511-000280

B FHEHER 28

89-1750-100002

NREE ¢10

89-1613-100042

INRRABF YR M10(3%E)

83-1830-382-00

AT2ARD Y v-40%X48%1.0

— ] — ] — ] — — ] — — ] —
e DS R EN 320 1= BN =51 £=1 P e e e e e Y e

80-1751-162-00 FTIOAYIINR
80-1481-155-00 TI2XVE#HS—
80-1481-152-00 T2E¥YUT
80-1481-151-00 FI2IL—k
80-1425-143-00 T270vyHa—
80-1415-150-00 HEEY
'S B & ' B B & 4

—
g_k—k—k_h_h_k—km@_k—k&_k—k—k—k—k



AR

No.RM98A-8

24/53HsT 2] 1/2

i
4
©
3
b e
T
aJ
7 "
e
@ —~—
X
.
_1121111W
{11
0|=
% ._WNA,_/_W/ o
©|2] )<«
Z] N S
oS AN 2 2 R N
ENTARIA) ST
u/|_|s b s/ l./b_unn
> - z|1=
= ~ Y ~
_I._Sb ~N |7 _n_ﬂ_
o ol N DN TN
n|T[v =[5
| s A
I |Heliel¥
Ky
D
illy
ololo|o|o|olo|o
=slt=1l={l=1l=1l=1t=]15]
27549876%@
D|N|— | |||~
TITIDITITITIRIT
i N N N Dy
< ||| —|o|o|o|o|ng
I BN BN 21 IS BT e IR
olo|o|o|o|o|o|o
[~=X
o
_7654321_“_:.




AN

No.RM98A-8

25/53 ysTER  2/2

s
K
o
o He
o
N
=)
T
< HE
<
N
N
el
fee)
s| (&
R S S
= [%512|S 2"
C._A.).P.P_\I/
nERREE
1 o
| H g DBE
| 0 Charher| 2
/IS_ 174 =
uek| KK
il &
H
= [K
=
o|au|ev| ol
olo|s|N
o — OO |—
o ol|o|o]o
< 58661_@
— =1t=1l=1l=]
of \ ITILIT|T
L e
(o] AN|[+—|—]|—
o 1111
olo|o|o
c0|00|c0| 0|2
Ho
654321=_H.




AN

No.RM98A-8

N2 FILEB

24 IVOUERS 9 2yML—=(K) 1 A YXEH

23 IVOUESR F—-21vF(K) 1 A YXEH

22 0244-81700 TIVEET-Y 1

21 0244-80700 NRILR—5(F) 1 A—Lvs

20 0244-75600 -7’} 1

19 0244-75400 27799% 1

18 0244-73600 T ) —Fr—H— 1

17 0244-72600 F3—974%(B&S) 1 J)IRAER

16 0244-72500 Fa—974%(K) 1 ADYXEH

15 0244-70400 LEDZ &IV (FR) 1

14 0244-70300 FARAYF 1

13 0244-15200 A—R 3% )L(K) 1 ADYXEH

12 0244-15100 A—R/\ 1)L (B&S) 1 J)IRER

11 0207-79700 —219F 1 JVIRER

10 0207-79300 I\ Ovyk52 7 (PLO56GB03) 1

9 89-1812-060002 st EEE (NEE)6 2

8 89-1541-060002 7Y ESWM6 2 J)JRER

7 89-1541-050002 73 ATy SWM5 2 HOHXEH

6 89-1159-080108 FSZINKZIME X 10(B AvF) 6

5 89-1159-060168 RS RINKTOME X 16 (B Ay ) 2 JJRER

4 89-1155-050142 HEARINR D (PW)MSX14 2 ADHYXEH

3 80-1484-914-00 NRILRY—Y 1 K. T7HUvT

2 80-1484-913-00 —<—4 1

1 80-1483-978-00 <9 kXA YF (B&S) 1 J)JRER
B B & ' 5 B & 4 EE & =z




AR

No.RM98A-8

27/53

NFRILE 2/3

14,15,16 0262-70100 J I\ KJLASSY (1) |cOASSYESBTRRERMERY
16 0262-70500 Fryd 1
15 0262-70400 INR)IL 1
14 0262-70300 HJ/\2K)LASSY 1
13 0262-10200 ST7v/\> ¥ JRCMP 1
12 0244-75800 N\VRIIVEERILE 1
11 0244-20600 NN VK —FCMP 1
10 0207-79200 E1—R R yIR7 Fr9b 1
9 89-3511-022250 DUJw a1 22.2533F 1
8 89-2150-050200 F—(@h) 5X20 1
7 89-1713-100003 FES 11X32X2.3 1
6 89-1561-100002 INEIUFvE M10 1
5 89-1553-060002 UFvk M6(FyJ{it) 1
4 89-1137-060122 FNERILEPW) M6X12 3
3 83-1493-149-00 INATUTIERD (FA) %) AyHIM8 X 10 1
2 80-1792-988-00 IN—RRDV) T 1
1 80-1481-324-20 2T 7)o a7 v JRCMP 1
&S | B & B B B & £ [EET B =




AN

No.RM98A-8

28/53 N EL B 3/3

12 0244-73800 INIRAFYE M12G6) & 2
11 0244-71900 2270y yk M12xP1.25 4
10 0244-71800 Nohk =L ZE(12) 2
9 0244-71700 Nohk =L Aa(12) 2
8 0244-31400 Sy HR—k12)CMP 1
7 0244-31300 440yb 7Y v A3(12) 2
6 89-1612-120042 INEIFRAF YR M12(6R) 2
5 89-1254-100252 FE{F/MNZ AR ILE M10X25GRE ) 2
4 80-1490-967-00 ATTFIHTT—=Y 2
3 80-1484-962-10 ATTZYTRYH X ASSY 1
2 80-1020-719-00 NAZYT AL M8X18 2
1 80-1016-461-00 ATV HIN — 1

&5 B & BF 5 B & & [ g =z




No.RM98A-8

AN

29/53

JOV b &

1/4

12 0244-62200 TINDZy/\B 5 (H) 1
11 0244-61700 Tyn—=279nN Bz 1
10 0244-61600 YN =TT 1
9 0244-61500 7087y —h"—F CMP 1
8 0228-60500 20 875w/ 1
7 0228-60400 20025/ 2 CMP 1
6 89-1713-100003 TRESE 11X32X2.3 2
5 89-1543-080002 INEYFRAFYRESW) M8 2
4 89-1213-100357 INBUSR AR ILNMBT) M10X35(E %) 2
3 89-1137-060152 FNAERILEPW) M6X15 8
2 83-1575-189-00 EEfTSRF vk M6 4
1 83-1565-111-00 AR ILESWPW(K))M6 X 16 4
&5 B &' B B & 4 [ & =z




No.RM98A-8 13—%%&’\

30/53 50 1 &5 2/4

11 0244-79200 BIIER2 4\ £ ASSY (i A £E) 1
10 0244-79100 BIER2 4V AASSY (i A 8) 1
9 0207-31100 X0 HhS— 2
8 89-1750-140002 NREE 914 2
7 0207-30500 A ARH/N— 2
6 0207-30410 HidmAA LR A 2
5 89-3115-060044 714 6004 2RS 4
4 89-2120-250252 E|E 25X25 2
3 89-1668—140042 INRGEA YR (ERI2FE) M14 2
2 89-1750-100002 INREE 910 8
1 89-1113-100202 7NAR ILMBT)M10X20 8
E5 B & ' B B & 4 EE g =




No.RM98A-8

AN

31/53

Jovbk 8 3/4

5 0244-62400 BiER3 Lhn —(IN) 2
4 0244-62300 BiIERT Lhn — 2
3 0207-30900 BiIERT LH/N—IRSZ 2
2 89-1631-080042 EEHINERAT VS M8 8
1 83-1415-975-00 JV)RA=vT)LM6 2
 nel B & B B & % EE m =




AN

No.RM98A-8

4

82/8 5pmk # 4/4

8 0244-32100 20 879X J)LCMP 1
7 0244-31200 X7 EL(E)CMP 1
6 0244-31100 X7 EL(H)CMP 1
5 89-3511-020200 DUJw< 1 20.20.31F 4
4 89-3510-025350 DUTJw 1 25.35 2
3 89-2511-000200 B F L &g 20 2
2 83-1490-337-00 EEEL 20X38X3.2 2
1 83-1310-371-00 AFART W —20X30X1.0 4
&5 B & ' B B & % EE g =




No.RM98A-8

AN

33/53

Ay ba—ILEp

1/5

89-1561-080002

INYUF YR M8

6 0244-15500 Fr oL /N\—S CMP 1
5 0221-13200 FOoYyT 1
4 0215-70600 LAN—=5YvyT & 1
3 0207-72600 EYTL 8 2
2 1
1 1

89-1253-080252

BE{F/MiZ KR ILR8T) M8X25

B & &' 5

B @& %

&




AN

No.RM98A-8

34753 g rm—ap 2/5

16 0262-72600 2')—0v%4FLF25-50 1
15 0262-72500 YAy 1
14 0262-72400 1JSyRSW 1
13 0262-11100 X2 [AlEL/ —CMP 1
12 0244-77500 FTRAOYRLATYH— 1
11 0244-77400 T2OY9RTYH— 1
10 0244-13400 a kA—)LAHA/RKCMP 1
9 0244-12300 Fx o F—.ICMP 1
8 0208-71800 L R—RTH 1
7 0208-71100 ASART v y— 12x18x1.0 1
6 89-3510-012200 DUJwi 2 12.20 1
5 89-2181-080282 FEEE 8x28 2
4 89-2132-080002 REL(RIFTIESD) 8 2
3 89-1233-080202 INBYZS A AR )L M(SW.PW)MBX 20 2
2 89-1233-080162 INBYFS A AR )L M(SW.PW)MBX 16 1
1 89-1158-030162 F 7T EEAR IR T M3x16 (PW,SW) 2
B B & ' 5 B & 4 [EE & =z




AR

No.RM98A-8

3/53 g3 roO—uEs 3/5

14 0244-73300 FILIN—RT)H 1
13 0244-72410 T8990 4 — 1
12 0244-13200 T 28y /\— 1
11 0244-12700 BIZEL /\—CMP 1
10 0244-12600 BlZ®E 7 — L CMP 1
9 89-3510-012200 DUJwI 2 12.20 1
8 89-2181-060202 JFEEE 6X20 1
7 89-2132-060002 RE GRITIESDHA) 6 1
6 89-1713-060002 EFEES 6X18X1.6 1
5 89—1712-100000 EEEEERL) 10X21X2 1
4 89-1561-100002 INEIUFvE M10 1
3 89-1551-060002 UFvk M6 1
2 89-1113-060552 7NAARILEET) M6X55 1
1 80-1020-263-00 OV RA—)LLN—ERR T H 1
B B & ' B B & 4 R g =




AN

No.RM98A-8

36/53

Oy ka—JLE 4/5

P
0

4 0244-72100 AOYRILT ALY — 1
3 0244-12500 ABYRILL/A— i
2 89-1852-100000 M/ HI10 1
1 89-1611-100042 IMEIRFEF VR MI0 2
#5 | 8 @ F® S Mm% [k w =




AN

No.RM98A-8

31/53| a3+ pm—ILER 5/5

16 0262-11200 8AF TS yRCMP 1
15 0244-12800 JL—XASY 1
14 0244-12200 F1 T L—FCMP 1
13 0225-11800 FxoOIL—FRTYY 1
12 0207-72300 Fioy 7 L—37V vA4 1
11 89-3510-015200 DUJwI a2 15.20 2
10 89-2181-060202 FEEEY 6X20 1
9 89-2132-060002 REGRITIESD ) 6 1
8 89-1750-080002 INREE ¢8 1
7 89-1750-060002 INREE $6 3
6 89-1611-080042 INEIFRAF Y M8 2
5 89-1233-080202 INBYFS A AR )L M(SW.PW)MBX20 4
4 89-1211-080202 INBUFRAAR LS M8X20 1
3 89-1113-060122 FNERILEBT) M6X12 3
2 83-1751-311-00 FFES 8X25X2.3 1
1 80-1614-315-00 CIEZPZi 1
B B & ' 5 B & 4 EE




AN

No.RM98A-8

38/53\ yiEnER 1/7

16 0244-87100 MIESZEET—Y 1
15 0244-61400 T7 279Nz 1
14 0244-61300 I FDIN 1
13 0244-61200 JF7H—F 1
12 0207-78100 FTAIER<T—5 1
11 89-1714-080002 T FEL8X25X2.3 3
10 89-1713-060002 EFEL6X18X1.6 1
9 89-1671-080042 INBIRAR T VEMS 3
8 89-1233-080162 INBUFR 7R )L M(SW.PW)MBX 16 3
7 89-1137-060172 FNARILEPWIMEX17 4
6 89-1137-060152 7NARILEPWIMEX15 1
5 83-1575-189-00 BEfF S EM6 5
4 83-1516-918-00 BERINILI 1
3 83-1516-908-00 FER—917 1
2 83-1484-921-00 fale<—42 2
1 80-1482-908-00 FEY—Y 1
B B & ' B B & 4 [ i =z




AN

No.RM98A-8

39/53\ yimngEp  2/7

15 0255-51100 ZEhN—CMP 1
14 0289-81100 AT IT9N 1
13 0244-62100 V779N ER 1
12 0244-61800 YA 779N El 1
11 89-2191-100720 BEE10 X 72 2
10 89-2131-100002 RE>10 2
9 89-1714-100002 EREL10X21X2 2
8 89-1714-080002 EEEE8X25X2.3 3
7 89-1713-060002 EEEL6X18X1.6 6
6 89-1671-080042 INRLR AR S VM8 3
5 89-1551-060002 U+vhkM6 1
4 89-1233-080162 INBIZRFA R )L M(SW.PW)M8X 16 3
3 89-1137-060172 7 ARILEPWIMEX17 4
2 89-1111-060202 7R )L EM6X20 1
1 83-1575-189-00 BT v kM6 4
&5 B & BB B & 4% EE




AN

No.RM98A-8

40753\ yimngp  3/7

0255-60300 BH/IN—DF5yIN
0255-51210 Hhn—CMP
0244-75500 HHN—ETF/\x
0244-71600 BHIN—IR
0244-61900 279N ER
0244-51700 BHN—EF7—L
89-2191-100720 BEE /10X 72
89-2131-100002 RE> 10
89-1750-080002 INREE ¢8

89-1714-100002

EESE 10X21X2

89-1713-080002

EES 8X22X1.6

89-1713-060002

FEES 6X18X1.6

89-1561-080002

INYUF YR M8

89-1213-080352

INBY AR JLNBT) M8X35

89-1137-060172

NARILEPW) M6X17

83-1210-484-00

BfE/\>K)L M8 %X 20

—_—_——_——_—_—_—_ ] —
—*NOO-PU'ICD\IWQO_LNOOAGQ\I

83-1575-189-00

EEfTERF vk M6

i

i

\

B & &' 5

B & %

—|



AN

No.RM98A-8

&

]

FAIN VMIN =
INEIZR AR JL M (SW.PW)M8BX 16

Y—J17
et

TE

/53| g 4/7

[\ [=}
IO
3lo|x
=l

—
(=] ] _—ﬁ
[ Foed s o
<t || —|-O
< | N[O |2
| —|+—[HOo
ol 1]l
D™
0|0




AN

No.RM98A-8

42/53)yEnER  5/7

&

Bl

ol

N |L

3|1

=)

Lo =Ny
3=kl Islo =3}
o [ T R e B P e RS R
F T EE R el S = | = |
= = N N S R
e Y R BN e B A P R
_“_./Hlb\n\/Lll_:E\otbn/_s/
\\b o_ l/‘_jl. _n_uw“.ol\lx__l
NN IN K e i kS el e
I I A

Z | A

A

=<|B
eI N NE e

= it=1t= M t=1t=]1t=]
O|O|IO|IO|N|—|—|—|N| I ||
ol|o|o|o|N|olo|o|lo|o|—
76641060825_“@
=y =1 =1t=1 =1 =1 G
el Il S A T N A DN D AN
L1111 L] |O—]—|O|MW|O
< | =[] = |0 | N[O |d o
< ||| S wo|v|—|—|N|w|< |0
N N N N G O N N el R B
=ll=1l=1 =104 BN DN DN DR RN
olo|o|o|o|m|o
co|co|co|co|e0|cd| 0|2
Ho
Hm987654321n__...




No.RM98A-8

AN

43/53

NERER  6/7

7.2.13.16 0244-78000 427 &EUtRILEEYE 1 189(&259 D)
7.13.16 0244-78200 mitARILEEYE 2 154D
16 0244-74600 n=rovstyMi14 2
15 0244-52100 FAIHvIH—F 1
14 0244-51900 F42T55 vk 1
13 0244-51800 FybH—F 2
12 0244-51600 {7 AT—EU{TR IVMBT M14 x 3051 B A v { 2
11 0244-51500 FA42T—1)— 1
10 0244-51100 T47A7—(R817A) 1
9 0221-76200 NARIEMI12 X35 (8T AVIfTE 1
8 0221-76100 EE£12x40X6 1
7 0207-50200 FTAT7EFRILE 2
6 89-1750-200002 INTREE 020 1
5 89-1750-140002 NREE P14 2
4 89-1750-120002 INREE P12 1
3 83-1483-175-00 Ry hERM20(Av ) 1
2 80-1483-821-00 47 2
1 80-1483-818-00 FATHhS5— 2
' B & ' B B & & [EE g =z




AN

No.RM98A-8

A3 IEER 7/7

HE
R
|—|— ||| +—]|+—
el
Njo
iyl Dl 17
ey
a|olo|x
=[o|w|NS N
C437AMI\|
T (w|w o) |
“\Uum.‘@b.mm
g Y A ‘~ [ g
.ﬂ././.r/.w_.rﬁn
_/_H_ _s/m‘x -
[N PR PAY fem = S [ 5
LIS [RIK o
M)
Aahukd
I
LY Y
o< |olo|olir
|—|P~|NN|O|O
ola|a|ofo] T T
o|lolo|o|o|<|—
3056024_"._@
ol |Mm|O|D| |0
ol 1 | | | I I
[ Bl Bad I72] K3V Kae] 52}
< |N|N|—|—|D| O |l
<|—|—=|—|w|<|<|0=
AWM |AN|~—]|—
[e>] g | | | 1 | |
o|o|o|o|o|o
o0|oo|co|co| 0| |
+Ho
765432157




AN

No.RM98A-8

45/53|s,— ke 1/3

15 0262-78300 BIRFIEY—Y 1
14 0244-22100 —br 2545 yECMP 1
13 JEFE & WEESE 1
12 0244-73700 JEfto OAybk-24 1
11 0244-71300 YA 77 AF—T9-170 2
10 0215-70800 EREBINIL 1
9 89-2521-000083 ERLFHE®S (2 =40) 2
8 89-1750-080002 INKEE ¢8 4
7 89-1713-080002 EFEL 8x22x1.6 2
6 89-1233-080202 INEU R 7R )L R (SW,PW)M8X20 2
5 83-1560-101-00 JIERILE 2
4 83-1516-915-00 EET—718 1
3 83-1020-314-00 FE£8x40x3.2 2
2 80-1792-988-00 IN—RRD) T 1
1 80-1791-935-00 NEFEFZIET— 1
&5 B & BB B W 4 EE & =z




AN

No.RM98A-8

46/53|s, — L & 2/3

15 0262-11400 +> 47—/, CMP 1

14 0262-11300 >4 A—ZCMP 1

13 0244-81500 HYURZYT )L —)L 1

12 0244-80800 SEVRET#IR(F—L VYY) 1 XA-=Ly97' 30 D H
11 0244-22300 > —bhZFECMP 1

10 0244-21810 —bhZIF 1

9 0207-74400 t+—2JF4—XAyF K17850 1

8 0207-72900 —hRAYFRTYLY 1

7 0207-72800 2A(vFaOvHF vk 1

6 89-2521-00080 ERIIEHER 8 2

5 89-2120-200202 L 2X20 1

4 89-1714-100002 EREEL 10X21X2 1

3 89-1531-060042 B REF Vs M6 1

2 89-1390-060162 AEARILE M6X15(H284A—FR) 1

1 80-1481-944-00 —k GTP-4(8) 1
e nel B & ' 5 B & % R s &




AN

No.RM98A-8

41753 o — &8 3/3

13 0262-20400 2507254 vkCMP 1
12 0244-71400 PV N 2
11 0244-71200 —k)UHRTYL G 2
10 0244-21700 ATV T8 Tv-CMP 1
9 0244-21600 PV 2
8 0244-21500 —hKJ> 9B CMP 1
7 0244-21400 —kJ2YA CMP 1
6 0244-21210 T IN—D 5y 1
5 0244-21100 =) OEY 4
4 89-2521-000120 ERIIFDHER12 8
3 89-1714-100002 EREER10X21X2 1
2 89-1211-100302 INBIFR AR JLEM10X30 1
1 83-1141-918-00 SEHY—Y 1
B B & ' 5 B & 4 EE & =z




AN

No.RM98A-8

48/53| ¢

\I
\"
\l
ok
-~
<
»

11 0244-81900 IO ATI—Y 1
10 0244-80400 E Hv-%(21HP) 1
9 0244-77700 YRR ED 1
8 0244-72800 EEY -V 1
7 0244-71300 $4YI7AF=T9-170 2
6 0244-62510 Efk—ILRIEEZ CMP 1
5 0244-60500 k&5 7CMP 1
4 0244-60310 IYY Vil vy MK)CMP 1
3 89-2521-000083 E&YIE &HiEF 8(1=40) 2
2 83-1575-189-00 EX IR 3
1 89-1159-060108 RSRINED M6 X 10(E AvF) 4
B B & ' B B & 4 EE {i& =




AN

No.RM98A-8

49/53

(4

' &R 2/6

H
\z
\
\

Ay - |

\

Il

7 0244-42900 IxXY—RbH/N— 1

6 0244-41500 IXY—RET7HETR(K)ICMP 1 HI7HF* 21HPEHA
5 0244-40800 I 75—EEIR 1

4 0244-40500 IXJ—XLF7HTR(B)CMP 1 B&S 21HPE A

3 0244-40400 75— 1

2 89-1233-080202 INBYFR AR )L M (SW.PW)M8X20 2

1 89-1133-060102 FFR)LSSW.PW)M6 X 10 5

HS | B & F B B} & A EE w =




HREpN

No.RM98A-8

80-1487-516-00

FEEE 11x40x6t

18 0244-42100 A JLMEZ CMP 1
17 0244-41600 A4 ILEL 2 (B)Assy 1 JYIREHR
16 0244-41100 I H5—(21HP) 1
15 0221-40400 I o T—)— 1
14 0207-74900 A/ NyED 125x19% 1.0 1
13 89-6123-007803 VALK OMER) LB-78SG1000 1
12 89-6123-003303 VALK (E4T)LB-33SG1000 1
11 89-1812-080002 T EES ()8 1
10 89-1713-100003 TELE 11X32X2.3 2
9 89-1611-080042 INEIFRAF VS M8 1
8 89-1543-080002 INEIFRAFYRSW) M8 4
7 89-1253-080402  [EE{H/INEZ/<ARILEET) M8X40(/OA—K) 4
6 89-1251-120152 EEAH/INEE R AR LR M12X15 1
5 89-1232-100202 IMNEZFN AR JLM(SW) M10X20 2
4 89-1211-080352 INBUFRAR LS M8X35 1
3 83-1493-300-00 INREER 7/16 1
2 83-1482-115-00 AR JLEUNF7/16-20 X 45 1 J)J RER
1 1

B

\

i

B & &' 5

B & %

|
S

&=




HREEN

No.RM98A-8

80-1487-516-00

EEE 11x40x6t

19 0244-42100 A JVMEZ CMP 1
18 0244-41700 A4 ILEL 2 (K)Assy 1 A0S XEH
17 0244-41200 HI I Hh5—(21HP) 1 HOHYXEH
16 0244-41100 IO Hh5—(21HP) 1
15 0221-40400 Iy -)— 1
14 0207-74900 $R/ 3> 125x19%1.0 1
13 89-6123-007803 VALK (XIER) LB-78SG1000 1
12 89-6123-003303 VALK (E4T)LB-33SG1000 1
11 89-1812-080002 T EES (NEE) 8 1
10 89-1713-100002 FRES 11X32X2.3 2
9 89-1611-080042 INEIFRA TV M8 1
8 89-1543-080002 INEYFRAF VR (SW) M8 4
7 89-1253-080402  [EEFH/INEERARILNETIMEX40(/EA—R)| 4
6 89-1251-120152 EEAH/INRIRAARILE M12X 15 1
5 89-1232-100202 INEZFN AR JLS(SW) M10X20 2
4 89-1211-080352 INBIFRAAR L M8X35 1
3 83-1493-300-00 INRER 7/16 1
2 83-1437-115-00 7NFHRJLEUNF7/16-20 X 35 1 HOHYXEH
1 1

B

g

i

B & &' 5

B M A

Ik

&=




AN

No.RM98A-8

28 Toou 8 5/6

13 0244-42300 E1TTa T —ICMP 1
12 0207-41100 EFTTUI AN T — 1 1
11 89-3510-016150 DUZJwa 16.15 2
10 89-3115-062034 N7F1)24 6203 2RS 1
9 89-2512-000400 JoALIEDHE 40 1
8 89-2511-000170 AL 17 1
7 89-2511-000160 A IEOE 16 1
6 89-1611-100042 INEIFRAF YR M0 1
5 89-1211-100252 INBU SR AR LS M10X25 1
4 83-1032-765-00 FiavT—)— 1
3 83-1020-363-00 A5 ARy — 16X24X1.0 2
2 80-1485-551-00 EfTT AV /AR 1
1 80-1482-549-00 21 LAN—58 1
B5E B & ' 5 B & 4 [ i =z




AN

No.RM98A-8

53/53

0244-42800 ToavTARS—EH
0244-42500 FA42T 30 T—1)—A
0244-42200 FATT2 327 —.LCMP
0244-20300 I o R—ACMP
0207-78400 FATTav5ENR
0207-43100 FADTI T —")—Eh

89-3510-016250

DUJws 2 16.25

89-3115-062024

A7) 6202 2RS

89-2512-000350

I ALIEDHE 35

89-2511-000160

BFEEHER 16

89-2511-000150

BFEIEHER 15

89-1750-100002

INREE 610

89-1713-100002

EESE 11X32X2.3

89-1613-100042

INRRAF YR M10(3%E)

83-1483-782-00

FAITvavT—)—

83-1020-363-00

AZALT Y v— 16X24X1.0

—_|———_—_——_ | —_— ] —
—‘Nw-hcnm\lm@o_k'\,w_hmo\lm

80-1482-549-00 d.L5/3—58
80-1481-568-00 FATTU L avVRLAR
#5 | 8 m & S B m %A B =

—
g—‘NN—‘MNNN—kNAN—L_L_L_L_L_L






